nitep= Import["d:\\Merken-PDFs u. MNBs\\Differentialgleichungen\\RC_Diff_Ein.jpg"]
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neop= ClearAll[u2];
w21~ Erg = DSolve[{Rg % Cc # u2 ' [t] +u2[t] = U@, u2[@] = 0}, u2[t], t]

outf21]= {{UZ[t] N e-meeeat/s (71 +eleaeeet/3> }}

n22p= U2[t_] =u2[t] /. Erg[[1]];
n23= Rg = 300; Cc = 100x"-9; U0 = 1;

np4= Plot[u2[t], {t, @, 5*Rg* Cc}, AxesOrigin » {@, 0}, GridLines - Automatic,

GridLinesStyle - Directive [Orange, Dashed], PlotLabel -» " ", AxeslLabel -» {}, PlotStyle » {Thin, Blue}, PlotRange - Full]
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